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Tnpsc group I / ii preliminary  
WEEK TEST 3 OF September, 2023 

 
1. The Chairman of the Rajya Sabha is elected by 

a. Elected members of the Rajya Sabha  b. All members of the Rajya Sabha  
c. Elected members of the Parliament  d. All members of the Parliament  
e. Answer not known 
uh[;a rig jiyth; ,th;fshy; Njh;e;njLf;fg;gLfpwhh; 
a. Njh;e;njLf;fg;gl;l uh[;a rig cWg;gpdh;fs;  
b. uh[;a rig midj;J cWg;gpdh;fs;  
c. Njh;e;njLf;fg;gl;l ghuhSkd;w cWg;gpdh;fs;  
d. ghuhSkd;w midj;J cWg;gpdh;fs;  
e. tpil njhpatpy;iy 
 

2. In which year the Parliament enacted the Official Language Act? 
a. 1955  b. 1965 c. 1963  d. 1957 e. Answer not known 
ve;j tUlk; ghuhSkd;wj;jpy; mYty; nkhop rl;lk; ,aw;wg;gl;lJ? 
a. 1955  b. 1965 c. 1963  d. 1957 e. tpil njhpatpy;iy 

 

3. Who was the first Deputy Chairman of Rajyasabha? 
a. S.V. Krishnamoorthi           b. A. Krishnaswamy  c. S.N. Banerjee  
d. Manekshaw   e. Answer not known 
uh[;a rigapd; Kjy; Jizj; jiyth; ahh;?  
a. S.V. fpU~;z%h;j;jp  b. A. fpU~;zrhkp  c. S.N. ghdh;[p  
d. khdf;~h    e. tpil njhpatpy;iy 

 

4. Consider the following statements 
Assertion (A): The council of Ministers in India is collectively responsible 

to both Lok  Sabha and Rajya Sabha. 
Reason  (R) :  Members of both Lok Sabha and Rajya Sabha are eligible to 
become Ministers  in union Government. 
Select the correct answer using the codes given below  
a. Both A and (R) are  true and (R) is correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not correct explanation of (A) 
c. (A) is true but (R) is False 
d. (A) is false but (R) is true 
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e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ,uz;L $w;Wfs; nfhz;l FwpaPLfs; cs;sd> 
xd;W typAWj;jy; (A) vd;Wk; kw;nwhd;W fhuzq;fs; (R) vd;Wk; 
ngauplg;gl;Ls;sJ: 
$w;W (A): ,e;jpahtpy; cs;s mikr;ru;fs; FO kf;fsit  kw;Wk; 
khepyq;fsit ,uz;bw;Fk; nghWg;ghdtu;fs;.   
fhuzk; (R): kf;fsit kw;Wk; khepyq;fsit cWg;gpdu;fs; kj;jpa murpy; 
    mikr;ru;fshf Mtjw;F jFjpAilatu;fs;. 
a. (A) kw;Wk; (R) ,uz;Lk; cz;ik kw;Wk; (R) vd;gJ (A) ,d; rupahd 

tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; cz;ik> Mdhy; (R) (A) ,d; rupahd tpsf;fk; 

my;y 
c. (A) cz;ik Mdhy; (R) jtwhdJ 
d. (A) jtwhdJ Mdhy; (R) cz;ik 
e. tpil njhpatpy;iy 
 

5. Arrange the following stages in the enactment of Budget in proper order. 
1. General discussion   2. Appropriation Bill                                                                       
3. Finance Bill    4. Voting of the Demands for grant 
5.  Presentation to legislature  
a. 1, 2, 3, 4, 5     b. 5, 1, 4, 2, 3    c.  5, 1, 4, 3, 2  
d. 5, 1, 3, 4, 2   e. Answer not known 
tuT – nryT jpl;lk; ,aw;Wtjpy; cs;s gy;NtW epiyfis Kiwahf 
thpirg;gLj;Jf.  
1. nghJ tpthjk;   2. xJf;fPl;L kNrhjh  
3. epjp kNrhjh    4. khdpaf; Nfhhpf;if kPjhd thf;nfLg;G  
5. rl;lkd;wj;jpd; rkh;g;gpj;jy;  
a. 1, 2, 3, 4, 5    b. 5, 1, 4, 2, 3    c.  5, 1, 4, 3, 2 
d. 5, 1, 3, 4, 2   e. tpil njhpatpy;iy 
 

6. Match the following and choose the correct answer 
Speaker    Tenure 
A. Mavalankar  1. 1962 - 67 
B. Hukam Singh  2. 1980-1989 
C. K.S. Hegde  3. 1952-56 
D. Bal Ram Jakhar  4. 1977 - 1980 

A B C D 
a. 3 1 4 2 
b. 2 3 4 1 
c. 2 1 3 4 
d. 1 2 3 4 
e. Answer not known 
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fPo;fz;ltw;iw nghUj;jp rhpahd tpil vOJf.  
rghehafh;     tUlk; 
A. khTyq;fh;   1. 1962 – 67 
B.  `f;fk; rpq;    2. 1980 – 1989 
C. Nf.v];. n`f;Nl  3. 1952 – 56  
D. ghy; uhk; [hf;fh;  4. 1977 – 1980     

A B C D 
a. 3 1 4 2 
b. 2 3 4 1 
c. 2 1 3 4 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 

7. The Dowry Prohibition Act was enactment by the parliament in the year  
a. 1952    b. 1961 c. 2000         d. 2011 e. Answer not known 
tujl;rizj; jilr;rl;lk; ghuhSkd;wj;jhy; epiwNtw;wg;gl;l Mz;L 
a. 1952    b. 1961 c. 2000     d. 2011 e. tpil njhpatpy;iy 
 

8. When was the first Lok Sabha held its first meeting after its constitution?  
a. 11th May 1952       b. 13th May 1952  c. 15th May 1952                  
d. 21st May 1952   e. Answer not known 
KjyhtJ kf;fsit mikf;fg;gl;l gpwF mjd; Kjy; $l;lk; vg;nghOJ  
eilngw;wJ? 
a. Nk 11> 1952   b. Nk 13> 1952   c. Nk 15> 1952 
d. Nk 21> 1952   e. tpil njhpatpy;iy 

 
9. Rajya Sabha has equal powers with Loksabha  

a. Removal of the government  
b. Amending the constitution 
c. Matter of creating new All India Services 
d. In making cut motions 
e. Answer not known 
Nyhf; rghtpw;F ,izahd mjpfhuj;ij ,uh[;a rgh ngw;wpUg;gJ  
a. murhq;fj;ij ePf;Ftjpy;   
b. murpayikg;ig jpUj;Jtjpy;  
c. Gjpa mfpy ,e;jpa gzpfis cUthf;Ftjpy;    
d. ntl;L jPh;khdk; nfhz;LtUtjpy;  
e. tpil njhpatpy;iy 
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10. Parliament can Amend the provision on official language of India under 
the Constitution by 
a. A simple majority of its members b. 2/3rd Majority 
c. 3/4th Majority     d. Support of 1/3 of its members 
e. Answer not known 
ehlhSkd;wk; ,e;jpa murpayikg;gpd; fPo; mjpfhug;G+u;t mYty; nkhop 
Fwpj;j tpjpia vt;thW jpUj;jyhk;? 
a. mjd; cWg;gpdu;fspy; vspa ngUk;ghd;ik   
b. 2/3rd ngUk;ghd;ik 
c. 3/4th ngUk;ghd;ik    
d. mjd; 1/3 cWg;gpdu;fspd; MjuT 
e. tpil njhpatpy;iy 
 

11. The Maximum permissible gap between two sessions of parliament 
a. 3 months    b. 4 months   c. 1 year   
d. 6 months   e. Answer not known 
ehlhSkd;wj;jpy; ,U $l;lq;fSf;F ,ilapy; ,Uf;Fk; fhy ,ilntsp  
a. %d;W khjq;fs;  b. ehd;F khjq;fs;   c. xU tUlk; 
d. MW khjq;fs;   e. tpil njhpatpy;iy 

 

12. Which article of the Indian Constitution granted powers to the President of 
India to nominate two members from Anglo- Indian community to Lok 
Sabha? 
a. Article 335   b. Article 336   c. Article 331   
d. Article 334   e. Answer not known 
murpayikg;gpd; ve;j tpjp ,e;jpa FbauRj; jiytUf;F Nyhf;rghtpy; 
Mq;fpNyh - ,e;jpad; rKjhaj;ij rhh;e;j ,uz;L cWg;gpdh;fis epakpf;f 
mjpfhuk; mspf;fpwJ? 
a. tpjp 335   b. tpjp 336   c. tpjp 331 
d. tpjp 334    e. tpil njhpatpy;iy 

 

13. Which one of the following feature is NOT in the parliamentary system? 
a. Majority Party rule   b. Leadership of Prime Minister 
c. Dissolution of Lower House d. Single executive 
e. Answer not known 
fPo;f;fz;ltw;Ws; ghuhSkd;w Kiwapy; ,y;yhjJ vJ? 
a. ngUk;ghd;ik nfhz;l fl;rpapd; Ml;rp  b. gpujkhpd; jiyik 
c. fPoitia fiyf;Fk; mjpfhuk;    d. xw;iw jiyik 
e. tpil njhpatpy;iy 
 

14. Which one of the following statement is not true with regard to powers of 
the Parliament? 
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a. Parliament can approve three types of emergency provisions 
b. It cannot abolish State Legislative Council 
c. It can alter boundaries of the states 
d. It can establish a common High Court for two or more states 
e. Answer not known 
ehlhSkd;wj;jpd; mjpfhuq;fs; njhlh;ghf gpd;tUgtdtw;wpy; vit 
rhpay;y?  
a. ehlhSkd;wk; %d;W tpjkhd mtru epiyg; gpufldj;ij 

mDkjpf;fyhk;.  
b. ehlhSkd;wk; khepy rl;l Nkyitia ePf;f KbahJ 
c. khepyq;fspd; vy;iyfis khw;w KbAk;  
d. xU caph;ePjpkd;wj;ij ,uz;L my;yJ mjw;F Nkw;gl;l khepyq;fSf;F 

Vw;gLj;jyhk;.  
 

15. How many days money bills can be delayed by the Rajya Sabha 
a. 11 days   b. 12 days   c. 14 days   
d. 13 days   e. Answer not known 
epjpkNrhjhf;fs; khepy mitapdhy; vj;jid ehl;fs; jhkjg;gLj;jg;glyhk; 
a. 11 ehl;fs;   b.12 ehl;fs;    c. 14 ehl;fs; 
d. 13 ehl;fs;   e. tpil njhpatpy;iy 

 
16. The salary and other emoluments of the speaker and deputy speaker fixed 

by 
a. Lok Sabha   b. Rajya Sabha  c. Parliament 
d. President   e. Answer not known 
rghehafh; kw;Wk; Jiz eghehafh; MfpNahhpd; CjpaKk; gpw gzg; 
gad;fs; ahuhy; eph;zapf;fg;gLfpwJ?  
a. Nyhf;rgh   b. ,uh[;argh   c. ghuhSkd;wk;  
d. FbauR jiyth; e. tpil njhpatpy;iy 

 
17. Which of the following article says that all the ministers appointed by the 

president on the advice of Prime Minister 
a. Article 53   b. Article 53 (1)  c. Article 75 (1) 
d. Article 74   e. Answer not known 
midj;J mikr;rh;fSk; gpujkhpd; MNyhridapd; Nghpy; [dhjpgjp 
epakdk; nra;fpwhh;.  vd;gjid fPo;tUk; ve;j tpjp Fwpg;gpLfpwJ. 
a. tpjp 53   b. tpjp 53 (1)   c. tpjp 75 (1) 
d. tpjp 74   e. tpil njhpatpy;iy 

 
18. In the parliamentary form of government the members of the council of 

ministers are collectively responsible to  
a. The head of the state     
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b. The Chairman of the upper house and the speaker of the lower house 
c. The parliament    

d. The Prime Minister 
e. Answer not known 
ghuhSkd;w murhq;f Kiwapy; mikr;ruitapd; cWg;gpdh;fs; ahUf;F 
$l;Lg; nghWg;Gilath;fs; 
a. murpd; jiytUf;F 
b. Nkyitapd; jiyth; kw;Wk; fPoitapd; rghehafUf;F 
c. ghuhSkd;wj;jpw;F 
d. gpujk mikr;rUf;F 
e. tpil njhpatpy;iy 

 
19. Match the following: 

A. Budget session     1. Lok Sabha 
B. Monsoon session   2. February 
C. Money bill     3. July 
D. Winter session    4. November 
nghUj;Jf: 
A. tuT nryT $l;lj; njhlh;  1. kf;fs; mit  
B. gUtfhyf; $l;lj; njhlh;  2. gpg;uthp  
C. gzkNrhjh     3. [_iy  
D. Fsph;fhyf; $l;lj; njhlh;  4. etk;gh; 
 A B C D  
a.  2 3 1 4 
b. 3 4 2 1 
c. 2 1 3 4 
d.  4 3 2 1  
e. tpil njhpatpy;iy 

 
20. To introduce money bill in Parliament, prior permission of _____  is 

needed  
a. Prime Minister  b. President   c. Attorney General  
d. Finance Minister e. Answer not known 
ghuhSkd;wj;jpy; gz kNrhjhit mwpKfg;gLj;j ___________ ahUila 
Kd; mDkjp Njitg;gLfpwJ. 
a. gpujk ke;jphp  b. FbauR jiyth;  c. ml;lhh;dp n[duy;   
d. epjp mikr;rh;  e. tpil njhpatpy;iy 

 
21. In case of Lok Sabha, the quorum to constitute a sitting of House is 

a. one-tenth of the total membership 
b. one fifth of the total membership 
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c. one third of the total membership 
d. half of the total membership 
e. Answer not known 
kf;fsitapy; mitia elj;Jtjw;F Njitahd Fiwe;jgl;r cWg;gpdh; 
vz;zpf;if vd;gJ  
a. nkhj;j cWg;gpdh;fspy; gj;jpy; xU gq;F  
b. nkhj; cWg;gpdh;fspy; Ie;jpy; xU gq;F  
c. nkhj;j cWg;gpdh;fspy; %d;wpy; xU gq;F  
d. nkhj;j cWg;gpdh;fspy; ghjp Ngh;  
e. tpil njhpatpy;iy 
 

22. Who said ‘Parliamentary system gives the Executive an opportunity for 
Tyranny”? 
a. H.J. Laski   b. J.S. Mill   c. Spencer   
d. Ramsay Muir  e. Answer not known 
“ghuhSkd;w Kiw eph;thfpf;F nfhLq;Nfhyhl;rp mspg;gjw;F tha;g;Gfis 
toq;FfpwJ” vd;W $wpath;? 
a. H.J. yh];fp  b. J.S. kpy;   c.];ngd;rh; 
d. uhk;Nr %h;   e. tpil njhpatpy;iy 

 
23. Qualification for Member of Parliament is mentioned in the Article ____ of 

Indian Constitution. 
a. 71(3)  b. 102 c. 285  d. 84  e. Answer not known 
,e;jpa murpayikg;gpd; tpjp _________ ghuhSkd;w cWg;gpdUf;fhd 
jFjpfisg; gw;wpajhFk;. 
a. 71(3)  b. 102 c. 285  d. 84  e. tpil njhpatpy;iy 

 
24. Match the following  

State     Number of Rajya Sabha Members 
A. Tamil Nadu    1. 16  
B. West Bengal    2. 19 
C. Maharashtra   3. 11 
D. Madhya Pradesh   4. 18 

A B C D  
a. 4 3 2 1  
b. 4 1 2 3  
c. 4 2 1 3 
d. 4 1 3 2 
fPo;f;fz;ltw;wpidg; nghUj;Jf: 
khepyq;fs;   khepyq;fsit cWg;gpdh; vz;zpf;if 
A. jkpo;ehL   1. 16 
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B. Nkw;F tq;fhsk; 2. 19 
C. kfhuh~;buh  3. 11 
D. kj;jpag; gpuNjrk; 4. 18 

A B C D  
a. 4 3 2 1  
b. 4 1 2 3  
c. 4 2 1 3 
d. 4 1 3 2  
 

25. Which article empowers the president of India to promulgates ordinance 
during the recess of the parliament ve;j murpayikg;G tpjp  
a. Art. 120    b. Art. 121   c. Art. 122   
d. Art. 123   e. Answer not known 
ehlhSkd;wj;jpd; $l;lj;njhlh; ,y;yhjNghJ FbauR jiyth; mtru 
rl;lq;fis ,aw;w toptFf;fpd;wJ?  
a. Art. 120    b. Art. 121   c. Art. 122 
d. Art. 123   e. tpil njhpatpy;iy 
 

26. Which of the following articles broadly govern the relationship between 
the Prime Minister and the President? 
a. Articles 74, 75 and 78  b. Articles 51, 74 and 75 
c. Articles 85, 74 and 75  d. Articles 74, 75 and 79 
e. Answer not known 
gpd;tUk; ve;j tpjpfs; [dhjpgjp kw;Wk; gpujk ke;jphpapd; cwTfis 
tpthpf;fpd;wd?  
a. tpjpfs; 74> 75 kw;Wk; 78 b. tpjpfs; 51> 74 kw;Wk; 75 
c. tpjpfs; 85> 74 kw;Wk; 75 d. tpjpfs; 74> 75 kw;Wk; 79 
e. tpil njhpatpy;iy 
 

27. Parliamentary privileges are specified in 
a. Article 105   b. Article 194    c. Article 186  
d. Article 172   e. Answer not known 
ghuhSkd;w rYiffis ___________ y; Fwpg;gplg;gl;Ls;sd.  
a. tpjp 105   b. tpjp 194    c. tpjp 186 
d. tpjp 172    e. tpil njhpatpy;iy 
 

28. When was the first Lok Sabha dissolved? 
a. 26 January, 1957  b. 04 April, 1957  c. 15 August, 1957  
d. 02 October, 1957  e. Answer not known 
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KjyhtJ kf;fsit vg;NghJ fiyf;fg;gl;lJ? 
a. 26 [dthp> 1957  b. 04 Vg;uy;> 1957  c. 15 Mf];l;> 1957  
d. 02 mf;Nlhgh;> 1957 e. tpil njhpatpy;iy 

 
29. Assertion (A): The Council of states is considered as a permanent 

House of the Parliament. 
Reason (R): The Members of the Council of states are representative of 
the states; not the people. 
a. (A) is false but (R) is true 
b. (A) is true but  (R) is false 
c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): ,e;jpa ghuhSkd;wj;jpd; epue;jur; rigahf khepyq;fsit 
fUjg;gLfpwJ. 
fhuzk; (R): khepyq;fsit cWg;gpdh;fs; khepyq;fspd; gpujpepjpfshf 
,Uf;fpwhh;fs;> kf;fspd; gpujpepjpfshf my;y. 
a. (A) jtW Mdhy; (R) cz;ik 
b. (A) cz;ik Mdhy; (R) jtW 
c. (A) kw;Wk; (R) ,uz;Lk; cz;ik> kw;Wk; (R) vd;gJ (A)-tpw;fhd rhpahd  
  tpsf;fk; 
d. (A) kw;Wk; (R) ,uz;Lk; cz;ik> Mdhy; (R) vd;gJ (A)-tpw;fhd rhpahd  
  tpsf;fky;y 
e. tpil njhpatpy;iy 

 
30. No-confidence motion to be admitted in the Lok Sabha needs the support 

of 
a. 160 members   b. 80 members  c. 140 members 
d. 50 members   e. Answer not known 
Nyhf;rghtpy; ek;gpf;ifapy;yhj; jPh;khdk; mwpKfg;gLj;j Njitahd MjuT 
a. 160 cWg;gpdh;fs;  b. 80 cWg;gpdh;fs; c. 140 cWg;gpdh;fs; 
d. 50 cWg;gpdh;fs;  e. tpil njhpatpy;iy 
 

31. Match the following: 
Country   Name of the Parliament 
A. USA    1. Diet 
B. Japan   2. Parliament 
C. Britain   3. Folketing 
D. Denmark   4. Congress 

A B C D 
a. 2 1 3 4 
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b. 4 1 2 3 
c. 2 3 4 1 
d. 4 3 2 1  
e. Answer not known 
nghUj;Jf: 
ehLfs;      ehlhSkd;wj;jpd; ngah; 
A. mnkhpf;f If;fpa ehLfs;  1. lal; 
B. [g;ghd;     2. ghuhSkd;wk; 
C. gphpl;ld;     3. Nghy;fl;bq; 
D. nld;khh;f;     4. fhq;fpu]; 

A B C D 
a. 2 1 3 4 
b. 4 1 2 3 
c. 2 3 4 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy. 
 

32. Match the following terms with their meanings: 
A. Adjournment Sine Die 1. Minimum number of members required to  

be present in the House totransact business 
B. Quorum 2. Last sitting of existing Lok Sabha, after a 

new Lok Sabha has been elected 
C. Kangaroo closure  3. Terminating a sitting of Parliament for an  

indefinite period 
D. Lame – Duck Session 4. Only important clauses are taken up for 

debate 
A B C D 
a. 3 1 2 4 
b. 1 3 2 4 
c. 3 1 4 2 
d. 2 3 4 1 
e.  Answer not known   
fPo;f;fhzg;gLk; nrhw;fis mjd; mh;j;jj;Jld; nghUj;jTk;: 
A. xj;jp itg;G  1. mitia elj;j Njitahd cWg;gpdh;   

vz;zpf;if 
B. Fthuk;   2. GJ kf;fsit Njh;e;njLf;fg;gl;l gpwF  

filrpahd gioa kf;fsit mkh;T 
C. fq;fhU %ly;   3. ghuhSkd;wj;ij fhytiuaw;W xj;jp itj;jy; 
D. Nyk;lf; mkh;T  4. Kf;fpakhd cl;$Wfis kl;Lk; tpthjpg;gJ 

A B C D 
a. 3 1 2 4 
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b. 1 3 2 4 
c. 3 1 4 2 
d. 2 3 4 1 
e.  tpil njhpatpy;iy  

 
33. Which of the following is not involved in the preparation of budget? 

a. Finance Ministry  b. Finance Commission c. NITI Aayog 
d. Comptroller and Auditor General of India  e. Answer not known 
fPo;fz;ltw;Ws; tuT nryT jpl;l jahhpg;gpy; rk;ge;jg;glhjit vit/vJ? 
a. epjp mikr;rfk;   b. epjp Mizak; c. epjp mNahf;  
d. jiyikf; fzf;F kw;Wk; jzpf;if mYtyh; e. tpil njhpatpy;iy 

 
34. Elected members of the Parliament from Tamilnadu 

a. Rajya Sabha – 18 members and Lok Sabha – 39 members. 
b. Rajya Sabha – 28 members and Lok Sabha – 39 members. 
c. Rajya Sabha – 81 members and Lok Sabha – 39 members. 
d. Rajya Sabha – 80 members and Lok Sabha – 39 members. 
e. Answer not known 
jkpofj;jpypUe;J ehlhSkd;wj;jpw;F Njh;e;njLf;fg;gLk; cWg;gpdh;fspd; 
vz;zpf;if 
a. khepyq;fsit 18 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
b. khepyq;fsit 28 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
c. khepyq;fsit 81 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
d. khepyq;fsit 80 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
e. tpil njhpatpy;iy 
 

35. Which of the following statements are correct about the Rajya Sabha? 
i. It is a permanent body   
ii. At the end of every second year one – third members retired. 
iii. This shows the unstable nature of the house. 
a. i only    b. i and ii only   c. ii and iii only 
d. iii only   e. Answer not known 
khepyq;fsit gw;wpa gpd;tUk; nrhw;nwhlh;fspy; vit rhpahdit? 
i. ,J xU epue;jukhd mit. 
ii. xt;nthU ,uz;lhk; Mz;bd; KbtpYk; %d;wpy; xU gq;F cWg;gpdh;fs; 
Xa;T ngWfpd;wdh;. 
iii. ,it ,e;j mitapd; epiyaw;w jd;ikiaf; Fwpf;fpwJ. 
a. i kl;Lk;        b. i kw;Wk; ii Mfpad kl;Lk;  
c. ii kw;Wk; iii Mfpad kl;Lk;   d. iii kl;Lk; 
e. tpil njhpatpy;iy 
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36. Match the following: 
List I       List II 
A. Consolidated fund of India  1. Article – 110 
B. Money Bill     2. Article – 267 
C. Annual Financial Statement 3. Article – 267 
D. Contingency Fund of India 4. Article – 112 

A B C D 
a.  4 1 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 3 1 4 2 
e. Answer not known 
fPo;fz;ltw;iw rhpahfg; nghUj;Jf: 
gl;bay; I     gl;bay; II 
A. xUq;fpize;j ,e;jpa epjp  1. rl;lg;ghpT 110 
B. gz kNrhjh    2. rl;lg;gphpT 267 
C. tUlhe;jpu epjpepiy mwpf;if 3. rl;lg;gphpT 266 
D. ,e;jpa mtrufhy; epjp  4. rl;lg;ghpT 112 

A B C D 
a.  4 1 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

37. Read the following passage and answer the items that follow. Your answer 
to these items should be based on the passage only.  
The deputy speaker who presides over the house in the absence of the 
speaker in elected in the same manner in which the speaker in elected by 
the House. He can be removed from office also in the same manner. One of 
his special privileges is appointed as a member of a parliamentary 
committee, he automatically becomes it’s chairman. Which of the following 
is best implied in the passage? 
a. Deputy speaker provides over the house  
b. The Deputy speaker is elected by the members  
c. He is the ex-officio chairman if he is a member of a parliamentary 

committee. 
d. He can be removed by the parliament. 
e. Answer not known 
fPOs;s gFjpiag; gbj;J mjd; mbg;gilapy; cq;fs; tpilfis 
mikf;fTk;. 
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rghehafh; mitapy; ,y;yhj rkaq;fspy; Jiz rghehafh;; mitia 
elj;Jfpwhh;. rghehafh; vt;tpjk; Njh;e;NjLf;fg;gLfpNwhNkh mt;tpjNk 
Jiz rghehafUk; mitapy; Njh;e;njLf;fg;gLfpwhh;. Mijg; NghyNt 
mth; ePf;fg;gLfpwhh;. ,th; ghuhSkd;wf; FOtpd; cWg;gpduhFk;. nghOJ 
jhdhfNt mjd; jiytuhtJ ,tuJ rpwg;G. Nkw;fhZk; fUj;NjhL 
fPo;tUtdtw;Ws; vJ kpfr;rhpahf nghUe;JfpwJ? 
a. Jiz rghehafh; mitia elj;Jfpwhh; 
b. Jiz rghehafh; mitapd; cWg;gpdh;fshy; Njh;e;njLf;fg;gLfpwhh; 
c. ghuhSkd;wf; FOtpd; cWg;gpduhFk; NghJ Kd;dhy; mYty; FOtpd; 

jiytuhfpwhh; 
d. ,th; ghuhSkd;wj;jhy; ePf;fg;glyhk; 
e. tpil njhpatpy;iy 

 
38. Which Article facilitates, the parliament of union consists of President and 

two houses? 
a. Art. 78   b. Art. 77    c. Art. 79   
d. Art. 81   e. Answer not known 
“,e;jpa xd;wpaj;jpd; ehlhSkd;wk; FbauRj;jiytUk;> <uitfSk; 
cs;slf;fpaJ” – ve;j rl;lf;$wpd; fPo; cs;sJ? 
a. ruj;J 78   b. ruj;J 77    c. ruj;J 79 
d. ruj;J 81   e. tpil njhpatpy;iy 

 
39. Parliamentary system of Government Implies 

a. Power is vested with elected legislature 
b. Elected by the people 
c. Cabinet system 
d. Presence of unitary Government 
ghuhSkd;w murhq;f Kiw vd nghUs; mspg;gJ 
a. mjpfhuq;fs; Njh;e;njLf;fg;gl;l cWg;gpdh;fs; nfhz;bUg;gJ 
b. kf;fshy; Njh;njLf;fg;gLtJ 
c. mikr;ruit Kiw  
d. xU ikag;gLj;jg;gl;l murhq;fk; ,Ug;gJ 
e. tpil njhpatpy;iy 
 

40. The Report of the Public Accounts Committee is presented in 
a. Lok Sabha   b. Prime Minister  c. The President   
d. Finance minister e. Answer not known 
nghJ fzf;Ff; FOtpd; mwpf;if rkh;g;gpf;fg;gLtJ 
a. kf;fsit   b. gpujk ke;jphp   c. FbauRj; jiyth;  
d. epjp mikr;rh;  e. tpil njhpatpy;iy 
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41. What is Mean of all two digit numbers? 
midj;J <hpyf;f vz;fspd; ruhrhp vd;d?  
a. 54.5  b. 49.5  c. 45.5  d. 44.5 

 
42. What is the median of the data 526, 265, 726, 672, 625, 248, 482, 252, 276, 

267, 284, 256? 
a. 284  b. 280  c. 282  d. 278 
526, 265, 726, 672, 625, 248, 482, 252, 276, 267, 284, 256 vd;w Gs;sp 
tptuj;jpd; ,ilepiy msT vd;d? 
a. 284  b. 280  c. 282  d. 278 

 
43. Median of first eight whole number is  

Kjy; vl;L KO vz;fspd; ,ilepiyasT vJ? 
a. 4   b. 3.5   c. 8   d. 8.5 

 
44. The mode of the data 5, 5, 5, 5, 5, 1, 2, 2, 3, 3, 3, 4, 4, 4, 4 is 

a. 2   b. 3   c. 4  d. 5 
5, 5, 5, 5, 5, 1, 2, 2, 3, 3, 3, 4, 4, 4, 4, vd;w tptuq;fspd; KfL 
a. 2   b. 3   c. 4  d. 5 

 
45. In a distribution, the mean and mode are 66 and 60 respectively. Calculate 

the median. 
a. 64   b. 62   c. 192   d. 66 
xU gutypd; $l;Lr;ruhrhp kw;Wk; KfL KiwNa 66 kw;Wk; 60 vdpy; mjd; 
,ilepiy?  
a. 64   b. 62   c. 192   d. 66 

 
46. What is the probability that a leap year selected at random will contain 53 

Saturdays 

a. 
3

7
   b. 

1

7
   c. 

2

7
   d. 

4

7
 

xU nel;lhz;by; 53 rdpf;fpoikfs; tu epfo;jfT  

a. 
3

7
   b. 

1

7
   c. 

2

7
   d. 

4

7
 

 
47. If n = 10, x = 12 and 2x = 1530, then calculate the co. efficient variation.  

a. 15%  b. 22.5%  c. 20%  d. 25%  
n = 10, x = 12  kw;Wk; 2x = 1530 vdpy; khWghl;Lf; nfOitf; fhz;.  

a. 15%  b. 22.5%  c. 20%  d. 25%  
 

48. Two dice are thrown simultaneously then number of chances of getting 
sum 8 is 
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a. 5   b. 6   c. 3   d. 8 
,uz;L gfilfs; xUq;Nf tPrg;gLfpd;wd.  $Ljy; 8 tpOtjw;fhd 
tha;g;Gfspd; vz;zpf;if vj;jid? 
a. 5   b. 6   c. 3   d. 8 

 
49. The probability of selecting a queen of hearts when a card is drawn from a 

pack of 52 playing cards is 

a. 1

52
   b.  16

52
   c. 1

13
   d. 1

26
  

52 rPl;Lfs; nfhz;l xU rPl;Lf;fl;bypUe;J xU rPl;L vLf;Fk;NghJ> mJ 
`hh;l; murpahf (Heart queen) ,Ug;gjw;fhd epfo;jfT. 

a. 1

52
   b.  16

52
   c. 1

13
   d. 1

26
  

 
50. Two coins are tossed together. what is the probability of getting different 

faces on the coins?  
,U ehzaq;fs; xNu Neuj;jpy; Rz;lg;gLk; NghJ ntt;NtW Kfq;fs; 
fpilg;gjw;fhd epfo;jfT?  

a. 3

4
   b. 1

2
  c. 1

4
   d. none of these  

 
 


